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D.1.01.2 Stavebné konstrukéni reseni
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Staticky vypocet
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Vypracoval : ing. Karel Stransky
ICO: 164 356 48



: F/CL'/A {ﬂj\r—/lﬁc\ /LQ/(MC’\,C,\W/, /vM,(A-{/N’A?(-;

- R A W}m’/wmg y&v{ |
VA T T %«t = 1,35, Ok .fdmo.olé’o,@o =
t’(/?g((- ?ZN/M/

Lw}
<
-.j

. 1,210 }ZO
A 7% /\
2
h'u&h.o,ﬂé' 7,723 . 2F = 0,34 2 N .
4

TRP 100/1;5‘/0125— L = 127, ¥(. fo‘é o~
/WMMM\/\M-’WM‘
¢

' -6
= 27,23.70 . 213 7o = \’>‘,°&2’5 hN’”“>MEVL

s -
. i 2. NT
%Mfﬂ% et ~ o
s k0 L Tl 4130020 5
,
l C’ a\(_/« l = .2( 37% )ZN/M

o | 2
Me s = 0,125 . 2,3F% . C Y = 4?/‘12'& PN o

| _¢
HER 76 O W=27.r7€0 ">

AAAAAANANANA—
1A N

RA =

| 0&@% 7, AP - 6&744

L L O 0 L W W LT Z\M: (3%, A%+ 7to. 3 0 <
L _ < | :7@7? }lN/m\/
7t -

PO‘ /(/ 1T



ooolk

By 0,125 1748 I = 1,848 AN

> A
TEL sy W o e

- - C . 4

\F/uuun\u[ Ma’*/’w)i"z, 70/‘0" {/@W%n& /ﬂj{( VZ
L . VA 7\0,{ :/(W’ﬁ/if _E'(,'y& O/ZOa

4,48

]

I
¥
A

13
Xx >, ?LF PN

. . ' 1
Mo = o028 137127 7,58 3 &9 AN
4

.I';[ZO W= Sh & 767 >
AN i

-6 . ¢ . -

e~

kof .

PALA rgra/\-w%ng maa/m_f/}l
' SN0
’{\'\\L.(Uulut\k(( \nll %/(3 O,FO.'H,'ZQ‘F{/ 9,20 »
1 ~ 0,1 < R ¢7 /
| @{‘Uf,m ‘ | + 138, 01 5&/“‘ G PN

2
| Ten = 025 . qe7 ._C,%t(o = &7 274 M

- .

HER 7CO M ot gcc,szm > Me



Tatbanha Ay adon

7 VA L VA A I 7—A=4/73%9LN/W’
T
' I
0,26 303 0,70
A v o o .

TRP  100/27&5/ 0, FE
WWMMM

Pt = 2,, 10, U7 + 380,30 =

0 2, U L 7 O 2 Wi P vt e
" f T <4, £37 M/m’
2,&”0- 2 v O -
: o » 2 : :
7 = 0125 hIyz, c0 = 340 ANAl

EA
Ex 7(O Mo = 66> 2 S M

%/1«0}/ 7. NF - ‘K/\qwqom& 70/(“’(

L o W W O T 2 O T | - 4'5 12 AN/”’“
hod I = q/\A

: 14
f/ot 7,0 f 0

2
| - N
Mep = 0,725 73/727’» 70 = 7,057 /R

TRP {“'O/N\O/{/O HM R €Cs Aha > NE«%



- \(Méxc/vw, A "‘"\5))"‘\6 /&/Z»O}/J/k. ~aA (-0 %
| |

f I‘i\\,(!(l,b\l\v!l 1/‘:A _{0 ’(778*“5‘3-@20:,
‘ Fk 1 = AT RO P T~
' . .
: l
| L0 250 | |
o @ AAT AN
[ty = 0,128 - 144€0 - B¥0 = & AT AN
}111(0 M’/:: 87,(? 70 ,.,,\6’
s ¢

= TRLPLAN~ S M,

4= 1,55 . 0,50 = o,cror/m/ ot

].olf 0% o, o, T B Lfé/\o /M/ il M)Lk
| S 1S
‘P,: 1,38 77 4T ,mﬂ/m .

Q
HM’4 0. {S/L,r? 08, bl 00 O,W 03

MER 760 [ = COky BN S iy

P e PN



